
lar'=

èt1+4tl ôl*Jl

2000000

1200000

dL,vt éJ

crl'-l.,^ll 4.ils

800000 Cu*yt eJ d^lÂ

150000

80000

160000

70000

60000

€ÉVl 4jtlJ.'ll i:t*1oJl

éJiil 4+lrl'Jl '!.Yt
L$ll J:t"i LJc. crtÈLJ,r-Yl

iJb:Jl .-4tsll

bl.yl ,!cVl

900000 ÇU.*.lt i;;iilt
100000

50000

a;lLll ok3U..ll

aJtJl "!,.!l
50000 AJlll 1+:ùll

950000 ':"Ù" \l LI.s a+rt*ll i++Jl

1 80500
I

qriJl dldl & ,:"{),' ll

aL. jË|.,,''ù,' ll

769s00 a;rUl 4t^iix 4+ul 4++Éill

crL:. U - a+.b ,_rc ,pgc

"!ri - a+rtt -,r:. J.-tie

a;rtJl *, Ç1:rjl

769500 UIJI aiJl 1à$r ji-
i*.LJl , ....- rjt.:',11 .LL:i . L.ill

r

I


